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3m80| Eiggy| B, CEMLG) w3.86 (+2.1)[=F =EXR(5) w3.79 (3.8 =72 (5) w3.63 (+2.6)|HFL I5E(5) w2.99 (+3.1)
RIEE DS DHBAC SNPYTIELDST KR DOBAC
heE3 [smes| 100m |3V REE) 13.66 (+1.3)|ZH IBRR(6) 13.63 (+1.3) | &FI(6) 13.65 (+1.3) | 5H BR6) 13.89 (+1.3) | DDH(6) 14.36 (+1.3) [1IT4Y  Z0X(6) 14.36 (+1.3)|RIR  555:(6) 14.46 (+1.3) | K\B #5E(6) 47T (41.2)
DD HAC KNPy IEEDST KR ECNER fDEAC sRNFR DD HAC ARUELIST ZRNFR
25195 Boon| BT _ER(®) 5710| B 32R (6) 5247160 _10%() 52478 kP T 5:45.69| 5% WLE(6) 5:47.92(/8 B (O) 550.25\% &5 (6) 5:54.32
fFDEAC BHJAC BEPR)—k REAC-RE ARWELIST Team Arai RIEAC-ER
3580| Eigy| TE DD (6) 413 (+2.0)|RIR  555(6) w4.09 (t2.2) (13 BFI(6) w4.00 (+4.0)|R BEH(6) 3.83 (+0.7) |z ZEF(6) 3.67 (+1.2) [{ElE  FIHEZR(6) w3.69 (+6.9)|LfE ZE(6) w3.67 (+3.4)|I\E ZEIn(6) w3.66 (13.4)
sSRNFR MRWELEDST ECNER MRWELEDIST BEPR)—H FCDEAC #CDEAC ARUWELIST
%3 |3808|00nH|PL EE@) 14.90 (-1.3)|2W 1%&(2) 16.55 (-1.3) |BP FHH(2) 16.66 (-1.3) |43 #F’R(O) 1716 (+0.6) |PUg R (1) 1716 (-1.3) [T BFEM) 17.28 (+1.0)|KAR 27T5(3) 17.89 (-1.3)|BBE  MHTE() 18.04 (+0.5)
FOAMIP RBEP BED 78fich ITAFIRUIP AC—E Junior-B%] BBP EED
35100 =igey| B EWE) 5.51 (+0.8) [I|A  EfH(2) 5.03 (-0.2)|=8 ZFE(Q) 4.58 (11D |1 /RO 4.42 (+0.3)|1B8& ¥E) wa 11 (2. 1B BE(2) 4.09 (+1.6)|B8 BABE(2) 4.07 (+0.6) |1RO  E{K(2) 4.06 (+1.7)
SiEP BEdD FOAHIP 8P SEP ke WED BED
3g08|mae| DR BDEG) 10.92|B5/m 2@) 9.6T|BP  #WaE() TATIAEB =R 142028 WEQ) 129|118 182 6.85|18im BXEL(1) 6.78| AR FHIB(1) 6.66
SRPEE N\BIEP-SE Smile TFL -=8 FOAHIP EP WRD REBP fezlllep
e as | smeal Boon| BK_SBEEG) 5:3183(A H(4) 5:32.78 & b (4) 5:44.08F8 @IT(4) 5:53.21(AI8 18R (4) 5:56.58| R () 6:00.58[tAf_ o (4) GOLT2|BE BB 6:02.76
ROEAC AFACER DRINF SINPy T |EEDST K ROEAC SINPYTELDST K sgEa P2 )—h ARWE LIS
JPEN S |- 7221 w3.80 (+H3.1)[FAK_Bith(4) W3.64 (+2.3)| PR FIE (@) w354 (135)|P5  18/3(3) 345 (N3)|PH BR®@ 344 (MD|Rh YE®@) w340 (+3.3)|igHf BT (@) w340 (2.0 _ 155 (4) w338 (+2.8)
HRUELEIST DHHAC SINPYTILEEIST KR fLDEAC RIRAC-RE BRNFR HRUELEIST FCDEAC
w (wind assist) : BEZSZ




